Linear Equations & Graphs

Lesson 7.2


General Form
While it is convenient to have linear equations expressed in the slope-intercept form, most of them are expressed in the more versatile form – the general form  

Ax + By + C = 0


, where:   
(1)

A, B, and C are real numbers;





(2)

A and B are not both zero; and





(3)

A is a whole number.

Eg1.
Rewrite the equation   
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   in general form.





Eg2.
Consider the graph of the linear equation   
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a)
Calculate its x- and y- intercepts. 


b)
Find its slope.






We can obtain several line properties from the general form:



slope 
= 
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When one of the terms in the general form 

Ax + By + C = 0

 is missing, the line would come with some special properties.  Try the example below.

Eg3.
Graph the line with the equation below.  State the domain and range each line.

	

a)
2x – y = 0

                                        ( missing C
                          y = 2x  (or y = 2x + 0)
                  The line has a slope of 2 and y-int at 0
                  It is an oblique line.


b)
2y – 5 = 0
                                        ( missing Ax
                           y = 2.5  (or y = 0x + 2.5)

                   The line has a zero slope and y-int at 2.5
                   It is a horizontal line.


c)
7x + 14 = 0
                                        ( missing By
                          x = -2     (doesn’t give us y=mx+b)
                   The line has undefined slope and x-int at -2
                   It is a vertical line.
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Eg4.
Brooke is a Grade 10 student.  She has two part-time jobs.  On weekends, she works as a ski instructor and earns $12/hr.  On weeknights, she babysits a little boy and earns $16/hr.  She wants to save enough for a game console, selling at ShopFuture for $336.

	a)
Write an equation to represent the number of hours she needs to work as a ski instructor (S) and as a babysitter (B).
	b)
Suppose Brooke works 8 hours as a ski instructor.  How many hours will she need to babysit the little boy?










Practices:
p.365

# 1, 2bc, 3efgh, 4, 5, 7, 8, 10, 13, 14a, 16, 20abc
_1389256519.unknown
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